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Phép cong nhiéu sb Ho va Tén:
Giai cac cau hoi. Cau tra loi
D 9+6+2=
I 1.
2) 8+1+9= 2.
3
3) 13+4+3=
4.
Y T+6+3=
— 5.
S 17+2+1= 6.
7.
6) [1+6+2=
8.
D 12+1+2=
— 9,
8 18+1+1= 10.
11.
N 9+1+7=
12.
10 1+7+2=
— 13.
1) 11+2+3= 14,
15.
12) 16+1+2=
B) 1+1+6=
14) 5+10+5=
15 13+2+5=
. 1-10 {93 [87[80[73 676053474033 ]
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Phép cOng nhicu so

Ho va Tén: Loi gifli

Giai cac cau hoi.

D 9+6+2=

17

2) 8+1+9=

18

3 13+4+3=

Y T+6+3=

20

16

) 174+2+1=

6) 11+6+2=

D 12+1+2=

8 18+1+1=

N 9+1+7=

20

19

15

20

17

10 1+7+2=

10

) 11+2+3=

12) 16+1+2=

13) 1+1+6=

16

19

8

4) 5+10+5=

15) 13+2+5=

20

20

Cau tra loi
1. 17
2. 18
3, 20
4. 16
5. 20
6. 19
7. 15
8. 20
9. 17
10, 10
1. 16
12. 19
13. 8
14, 20
15. 20
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C{}El—q Phép cong nhiéu s6 Ho va Tén

Giai cac cau héi. Cau tra loi
20 18 16 17 20
20 10 19 17 15 1.
) 9+6+2= 2.
3.
) g+1+9= A
5.
3) 13+44+3=
—_— 6.
7.
Y T+6+3=
8.
9.
5) 17+2+1=
10.
6) 11+6+2=
7 12+1+2=
8) 18+1+1=
N 9+1+7=
10) 1 +7+2=
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